G2 Booklet Code I:A_:]

Time : 3 Hours Marks : 100

Instructions :
(i) Onemark will be awarded for every correct answer. There are no neg
L 508 b 3Tl Sty ironodto akiH&od. Jndod Grrél 376 8.
(i) *Choosc the correct or most appropriate answer from the given options o the following
qucstions ﬂﬂq darken, with Blue/Black Ball Point Pen the corresponding digit (1),(2), (3)
or (4) in the circle pertaining to the question number concerned in the OMR Answer Shecet,
scparatcly provided to you.
Bros Ay B8 BHK asmss THE' OGS SEreEBNS JFD D, Brd0d
ooz (1), (2) (3) Bor (4) Icom as OMR 38res HES0S" BAHE $0220500
Sopsio TR oo B S ard Fowol Y GHATNAODDOBIVD.

ative marks.

. The device used to accelerate charged particles is
(1) Gyroscope (2) Cloudchamber (3) Elcctroscopc  (4) Cyclotron

w5338 g0 &0do BoHmds &dRrNoBd HBEE0

(1) 06899 @) TE wows (3 JogMms () BEES

2. Frequency band of FM broadcast is
FM @ar6o G0o%), sy 58 -
(1) 88-108 kHz (2) 88-108 MHz °
3) 540-1600 MHz - (4) 540-1600 kHz

3. Due to which property of matter, soap bubbles are spherical in shape?
(1) Viscosity (2) Young's modulus
(3) Surface tension (4) Elasticity
8Sg0 o‘:‘)wéa, D (58,0 5*Ep00, Dgy 20dKen Aos8oes® Gotron?
(1) . (2) ooh Heaso

(3) Sodsgd (4) RogHss

4. The change in the frequency of the sound heard by an obsc
between the source of sound and the observer is known as

(1) Zeeman shift (2) Raman shift
(3) Stark shift (4) Doppler shift

7y =380 418050 HBReKd Sodg FHE Seso sTEmomr D80S D3 R0 B,

250’ S0y DS00trE?
(1) 2£3: Dﬁgé:ﬁo
(3) Q_:Sb :)ig;’aséo

R A 1A

rver due to the relative motion

(2) oHS DTN
(4) a‘:’._),f)' D@;:’:éo
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5. Inahouse 2 glcctric bulbs of cach 100W power are used 6 hours a day. What is the total ‘:
number of units of clectricity consumed in the month of April 2022 in this house? 6;00

26 207285 §,8 100W 29850 Ko 2 Debrgs degen 628 6 fotaen el e v -
f. o — 0
& 20 IBS 2022 Jos* DABrAoSHAS G0 QDS oy Dopg J0d? L e®t
[} \ 6,
W

(1) 72 (2) 12 (3) 18 4), 36 C

6.  The de Broglic wavelength of an electron of mass 9.1 x 10728 g travelling with a specd of
3.641 % 10° ms™! approximately (in m) is
3.641 % 10° ms™ 3roa* Bosreod 9.1x 1075 g o 855072 e dogS BEs*d S80K3E I
(m o&*) irdmr
(1) 2.0x107® (2) 2.0x107'0
(3) 4.0x107° (4) 4.0x10710

7. According to molccular orbital theory the correct bond order values of specics
NO*, 03 and CO" respectively is
e sOyrdo drrodo Bs*o NO™, 03, COt = e QBN woHBD Denden SEJM

(1) 3.0,2.5,1.5 (M NS, 3.0,2.5
(3) 25,15,3.0 (4) 3.0,1.5,25,

8.  Observe the following compounds
NH4OH, N3H, HOCI, HCN,Na3SO4, Na,CO3, KCN, KOH, NH,Cl
The number of acids, bascs and salts in this list is respectively 5 5 &

Bod dApdT e H03doT0s
NH4OH, N3H, HOCI, HCN, Na,SO,4, Na,CO3, KCN, KOH, NH,4Cl
& IRS* &8 viren, 5o DB ol Qdopg SEJr

(1), 3,2,4 (2) 3,4,2 (3) 2,3,4 (4) 2,4,3
. 9. Purcst form of commercial iron is

(1) Wrought iron (2) Pigiron

(3) Castiron (4) Magnetite

TE;E 088 Bng), ¥ DEDI Erd

(1) B3 adsw (2) &g a5

(3) =€ adsw | (4) S>»KB&

A aa
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10.  Whichoncof the following statement is not correct about reactions of carbon cnn‘lP‘“m(.lS?
(1) Guttermanu - Koch synthesis involves conversion of benzene to henzaldehyde using
CO and HCLin the presence of AIC v/ CuCleatalyst.

(2) Lucas test involves a reaction between an alcohal and zine chloride in concentrated
11O to differentinte primary, secondary or tertiary alcohol.

(3) An Sy2 reaction between an RO™ and R=ClH,=X (o give R-O-CII,R is called
Williamson synthesis. .

(4) InSyl reactions ol alkyl halides, the solvent should be least polar with lower diclectric
constant.

Bod TRS" EHS Soddoei Sorgro SEgo HowohHod HOFR DI6 IB?

(1) KQ63rS-8'0 Bodhmes* Bodldd Bowrdwrbm 8@ AlCl; / CuCle@yss )
QOANoD BodSi CO, 1ICI vé* $Eg woYad.

(2) @50, Dosdl Bor ByckHd ey HtEd Sdom Hgesarat wobgos, md HC 200
WG 0™ BOE wolr.

(3) RO, R-CH,Xo o6y SN2 worg DEsod” R-O-CH,R D6D S5 DOTHOVN
Soddw wodr,

(4) TS HPEe Syl Sorg Dersod* Bog 2EHE A8 BIVEE Horoko B8y IM ¢ od
wd S5S FHSiErdmoes HOGDD.

11. Assertion (A): Sorting out of the individuals with-uscful variations from a heterogenous

populations by nature is called Natural Sclection.

Rcason (R): Useful variationsaappear in cvery generation and are inherited from one
generation to other. These variations accumulate by number of generations.
Thus, the variations are so prominent that individual change into a new
specics.

(1) Both (A) and (R) arc correet; (R) is correct explanation for (A).

(2) Both (A) and (R)are correct; (R) is not correct explanation for (A).

(3) (A)is correct and (R) 1s not correct.

(4) (A)1s not correct and (R) is correct.

APNSSID (A):  PE) oferren Ko aTre Hod viro IITgw fo 2Ho JoDED
REYBIEe00 wotr.

s 800 (R): LOEre JDTgen PRESE0ST EAToN. v w8 8o Wod RoFE o°A8
DoE oo, wIE dorenrm & DB 28KLo S0 & Idrrges Joddo
VHE oW, & T PINVPL, © 2Jew w8 §F 8 Srdrodhoow.

(1) (A) Sodbcs» (R) ol $0503D; (R) 38 (A) % 20805 dS3de.

£2) (A) 508050 (R) Dot $0505D; (R) ©IB (A) £ HBGS DS58e0 5.

(3) (A)RD08G0SH 58050 (R) I0G0IE 56,

(4) (A)D0G0HB s b8 (R) 385088,

LA s-A
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2. Asscrtion (A): - The amount of DNA present in somatic cel] depends on the phase of the
cell eycele.

Reason (R):  Telophase and Gy phase nuclei contain only half (as 2c) the amount of
DNA found in the prophasc; G phase and metaphase cclls represent 4¢.

(1) Both (A) and (R) arc correct; (R) is correet explanation for (A).

(2) Both (A) and (R) arc correct; (R) is not correct cxplanation for (A).

(3) (A)is correct and (R) is not correet.

(4) (A)isnot correct and (R) is correet.

OPBE0 (A): THD EwSnS'D DNA Bndo ¥ SESnc'd 206 Sfod wEEdd
Gotnod.

s8eo (R): ©wodgld Bobain G ¢5¥So BoBind® Kt B9 DNA 3ndgsnd®
RS (as 2¢) otwod. Gy &F S0cSw .'.&Jcis‘gcs-ﬁ’c'i‘ ©8d 4cm Gotnob.

(1) (A) ;.Soaoti:o (R)Bodor 30c053; (R) @38 (A) & ROGRS DBGeo.

(2) (A) %000 (R)Bodr $8505; (R) 638 (A)& VBRS DSB8 5.

(3) (A)J0c0& Sodcs» (R) ROTLIB s .

(4) (A)SBG0SB °6 8050 (R) HESHIB.

I3.  Identify the exploitation cfficiency in an ccosystem among the following.

Production Production
(1) T - R v———
Assimilation Ingestion
3) Consumer productivity @) Ingestion of food
Prey production Prey production

808 IS et SgIPS'D DABrH FBoggoss MGoHI.

- )4 =
(1) =& (2)
Do Eeo - S8 oo BostSbo
IABrHTd oS5 uito S oo BoE Sero
(53/), (4)
QLYo S8 QLYo G\
TN 6-A
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14. What is the origin of replication?
(1) The S_PCC‘f__lC DNA sequence which is responsible for initiating replication
(2) Identification and climinating the non transformants
(3) Unfolding of a protein
(4) Single strand of nucleotides that cxtends from an end of a fragment of DNA
OB BIONS TT v
(1) ©8%)8 Fodod D3ZJs SKHdHED0 §08 DNA
(2) H0SEEL TRV TN HBod DtoBosn
(3) @8 HoPero S Boinb
(4y =5 DNA &35 D56 So o8 20 (98 $rg8arBE
15. Insewage treatment, the following is put into anacrobic sludge digestion

(1) Efﬂu?nts of primary treatment (2) Primary sludge
(3) Debris (4) Activated sludge
B0 D6 BBHE HBT EH0S* wIrEndird DIVMTIY & (0" HoYe .
(1) @608 68 dros'd (ES Sggo  (2) FEE w08 drrgo
(3) W -~ (4), SBeS S dogo

- 16. Match the following. )

List-l List-I1
a) Calciferol 1)  Pellagra
b) Niacin ii) Rickets
c)  Thiamin ' iii) Xeropthalmia
d) Retinol iv) Beri beri
808 T 2EHEBS®.
e - | e - 11

a) sOyword ~ 1)  Toar
b) ddSroe i) 08
c) GaRDS i) foxmoyor
d) o8TS iv) 20=d

The correct answer 1S :
DEGLS DB

(1) a-i, b-iv, c-iii, d-1 -
(2) a-iv, b-iii, c-ii, d-i
J3) a-ii, b-i, c1v, d-i1i
(4) a-ii, b-iii, c-, d-iv

LT

5
>
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17. A colour blind man married a woman who is the daughter of a colour blind fathes e

- ! . o wete e o) ors heing,

homozygous mother with normal vision. What are the chances of their daughte! b
colour blind?

w8 Sgrodds HHDE, Sods; SoBh-Aadm ERKe ddatale $QB BONTS BBIOR0
DTErSra8 308 S0 wabodt Jod TE0 SFOEEI0 wodSsy?
(1) 25% (2). 50% 3) 75% (4) 100%

I8.  Study the following and identify the correet statements.
[)  Water hyacinth is called terror of Bengal.
IT)  Scrubbers arc used to control the heavy metal pollution,
II)  UV-B rays causc snow blindness.
IV)  Electrostatic precipitators arc used to control harmful gases ofautomobilc exhausts.

Bod T wEgehso B JBH woren 0o S0,

[) Q& TArhodd BIBE 8L Borrd wolrdd.

[I) oIS STenRg Aoso@ro Qe T Ee .

) UV-B 8dere o3 2 Zo8IS Seofob.

V) Srirds oo HS' G0d HE Ta0Po Adbognss JoFas BROBLE

TET K.
(1) LI 2) ILIV ' €), L8l (4) ULIV
19. From the following, pick up the correetcombinations :
S.No. | Endocrine gland Hormone Abnormality duc to over
_ sccretion or under secretion
I Thyroid gland | Calcitonin Dwarfism
I Parathyroid glands Parathormone Tetany
111 Adrenal glands Glucocorticoids Addison’s discasc
v Pancreas Insulin Diabetes insipidus
o8 0 Sod o8 DEDoPHods K8otod :
5.%0. | od@A0SH (K0d 5650 0B% B woy @rdo
39 50N wrden 18
[ ©Sdo (Hod SIS Doy ESo
II WIS Kogoen SOETEYR Soogdo
IT1 ’ ©BI)E, Hoken ﬁgg‘s‘gs‘mﬁm S33R g8
V| &80 _ 28908 BASrDBR ISODED
(1) LI (2)/ II,IV‘ i (3) ILIII (4) LI

Wmmmmmn—-
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20. Match the following,
15t List-11
a)  Typhoid , iy  Vibrio cholera
b)  Pneumonii i) Corynebacterium
¢) Cholera i) Salmonella typhi
d)  Diptheria iv)  Haemophilus influenzace
808 TR BEBEBSY, _
e -1 wrdor -1 A\’c!
a) Bdrowd i) IDdr oo 0 ‘
b) SogRordady ii) &oergoato
¢)seersy i) reyder IO C)
d) &[85> V) SArdpeb addr
The correct answer is :
OGN PETETEED
(1)7 a-iii, b-iv, c-i, d-ii (2) a-ii, b \' ALY
(3) a-iu, b-t, c-ii, d-iv (4) a- wg& 1, d-1

2415

oS HdHots e .?.’Ja S&HBm

According to the IMF World Economic outlook rep,
growth forecasted for 2022 and 2023 respectiys

wfwd 2022, IMF J8508 wHiSeot

\ W60 2022 0000 2023 0 G0

@5 3: 2% & 2.7% (2) 2.7% & % ) 6.0%&4.7% (4) 4.7% & 6.0%
22. Match the following Cinei aN heir Bcsl movlcs
List-1 List-II
a) Canes - 2022 1) CODA
b) 52" IFFI ii) Triangle of Sadness
c) BAFTA-202 iii) Ring Wandering
d) 94" Oscar iv) The Power of the Dog
& 8ol 2 S T8 g DEred addivsod.
e - 11
i) 8o
ii) (osrohd ud THIN
ii1) Bof arodboh
V) & D56 69 & @h ‘
(2) a-ii, b-iii, c-iv, d-i
(4) a-iv, b-ii, c-1, d-1i
9-A
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23. Match l_he following Indexes/Reports with the India rank.
a)  World Press Freedom Index - 2022 e =136
b)  World Happiness Report - 2022 i) 135
¢) Human Development Index - 2022 i) 150
d)  Global Gender Gap Report - 2022. |, iv) 132
o8 2Sc28S Srden/dBBE0L qodass Ogo88* uEHEE0h.

ehe - | e - | \

) I8¢ @S ®ES =oad§) - 2022 1) 136 0
b) 38 G5B 0§ - 2022 ii) 135 C)
C) SosS @éz)éag ArdE - 2022 i) 150
d) @50 BoX Sgergd wr0g -2022  iv) 132 0\
The correct answer s : \'
DBSS SIFEHS0 - X 0
(1) a-iii, b-ii, c-iv, d-i 2) ai, b)%'\ld-iv
(3)  a-iii, b-v, c-ii, d-i (4) a%t v, d-ii

24.  In January 2022 India and Nepal signed a MoU/Tr the’construction of bridge over the
following river at Dharchula.
(1) Mahakali (2) Mechi ) WGandaki (4) Koshi
ToSrer IS¢ & 8od 38 J08% QD@ 0Bar H8c%n IFSen 2022 =558&°
OIMTS 2doboD Jodsren, D
(1) S99 2) 30D Q) (3) , Hose 4) &5

25. LVM3-M2 successfully @tellites in orbit. Correct sentences regarding this are

| : a)  This s the first NewsSpaee Ifidia Ltd. Mission with LVM3.
| b) One Web limited i$ work Access Associate,

c) 36 satellites We1 4 kg.
d) LVM3-M2aei18ht 5796 kg.
(1) (a),(c)e %y (2) (), (b)and (c) only
(3) (o m@ (4) (a)and (b)only

LVM3-M2 S8 36 5)@d sdiTol 558t BAceabom B3 2EI8. B8
éo@;&%@o:ﬁ TETge0
a LVM3 &° Srgy® a0dcsr ODBE I8¢ DAS

ST OWBE @I o.¥ SEEE), JIZD WAVGLES.

36 &HESte 289 - 644 kg.
d) LVM3-M2 263 - 5796 kg.
(1)X(a), (c) 0850 (d) Sor@ad

(3) (c) %8050 (d) & (4)

) (@), (b) 26050 (c) SrEs
(a) 56050 (b) Sr&SHo

AR ORI

" .""|' »
r—
- b4, d
.'.‘— B

10-A
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26. The Prime Minister of England at the time of Queen Elizabeth II's death.
(1) Boris Johnson (2) Liz Truss (3) TheresaMary (4) David Cameron

45 D0uBS-11 226808 $SHoiras momol BE 8500
(1), 569 TS (2) oF LB (3) @oar B8

27. Choose the correct statements with reference to the Union Budget 2022-23.
a)  Oneclass - One TV channel programme of PM eVIDYA to be expanded to 200 Q

(4) da& S Sl

channels.

b) 500 new generation Vande Bharat Trains to be manufactured during the r@l
years.

c) 100 percent of 1.5 lakh post offices to come on the core banking systém. J

d) A network of 32 tele-mental health centres of excellence will b(&p‘

(1) (a)and(d)only (2) (a)and (c)only

(3) (a),(b)and (c) only (4) (a), (b)and (d)
cSardoie g 2022-23 8 Howohod JBS TEPGO ¢ 5!

a) PM eVIDYA & Bods 2§ S648-8 TV & 200 TV gradose

Jndodwtdos. _ j
b) oS SodgSt 500 £ $do SoBerES émsésrda BoH&a)5.
c) 1.5 oo FFoesH 100 8o 5§ ngoSe/ Rg' BGdo 2brecd.
d 32 B8O-obS S Do) wH D 36, domyin Bobwdadob.
(1) (a) Sodoso (d) S Y (a) 308050 (€) S
(3) (), (b) $o8c8® (c) S \(4) (a), (b) S08c50 (d) SoES>

28. In August 2022 Supreme % ed that Section 3(2) of the Benami Transactions
(Prohibition) Act 1988 as unc nstifutional. Section 3(2) of this act gives provision of the
following punishment. %

(1) Three years makimum imiprisonment or fine or both.
(2) Properties h enami shall be subject to confiscation by Authority.
(3) Maxim years imprisonment (or) fine.

(4) Maximum 5 years imprisonment and confiscation of properties.

(208G Tragor DFHD 8IS DT oTBIe (V) ©&30-1988

30) & 8o 380 DBoBoths Den E8yR08.
a¢) [f8d Beods SO 2080 So° Bo&od EOD

3) 50d¢) Kop Beotd (Bo) 20deT
(4) rneRor 00 Beoit S08c50 eRe 2

T i

el
_"".. -
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29. Match the following pl

ayers with their sport event participated in Common Wealth Games
| - 2022,
' List-I List-1]
a)  Saurav Ghoshal 1) Table Tennis
b)  Sharath Kamal 11) Judo
| ¢) LakshyaSen i)  Squash

d)  Vijay Kumar Yaday

iv) Badminton ’,\'\
S0 3G Na0)-2022¢5* ST fwsdHos 38 >SS daored® a’,éﬁd&‘@-\

| zoe -1 de -1
":. )  RES 5% ) Bewd BYS CJ
b) 85 €508 i)  amEt

°
C) oFg DS i) AYeq Q
d) D20 H5r6 SrES V) 28088 0
“ The correct answer is - \
66@0«‘6 DErTSS0

(1) a-ii, b-ii, c-iv, d-i (2) aqit, B-15¥ c-i, d-iv
(3)/ a-i, b-i, c-iv, d-ii (4) %a-1, b-11, c-iii, d-iv
30. Match the following books with the res ctive / !
List-] List-I1
a) A New India : Selected Writin 19 1) Dalai Lama and
» % Desmond Tutu
b)  The Little Book of J '

11) ArunJaitley
§ in India 111) Vinit Karnik
inmning iv) Prakash Singh

¢) The Struggle for Poli
d)  Business of Sports +The
Formula for Suceess

& 80B PO ad(en)od 2856508,

=Da - 1
a) RoBe>: - 2TZE DBofy) 2014-2019 i) SBerir Ho0a%0 08 Lt
b & J&s @9 =05 i) o&hs 28

c) 4@&6 95 b5 6285 aS oot iii) 206 sg§
DEIR wH ﬁfh% - 8 dQoh FEer HE YD 1v) H¥5F ok
ITeCt answer 1§ :
e BOGI JEFTIS ¢
i (1) a-ii, b-iii, c-i, d-iv (2) a-ii, b-i, c-iv, d-iii
(3), a-i, b-ii, c-iii, d-iv (4) a-1v, b-iii, c-1i, d-i

A 124

(3 Scanned with OKEN Scanner
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31. The following was not initiated in the Quad-22 Summit held in Tokyo on 24" May 2022.
(1) Q-CHAMP (Quad Climate Change Action and Mitigation Package)
(2) HADR (Humanitarian Assistance and Disaster Relief)
(3) IPMDA (Indo-Pacific Partnership for Maritime Domain Awareness)
(4) GISRS (Global Influenza Surveillance and Response System)

& od TRS" 24D 2022 5 e'S'gest 26AS Quad-22, FHT BErIF0S” (FE0DoSRERE.
) Q-CHAMP (5355 3265 J0& cirgS wob DSALS FgEs)
(2) HADR (Z0557086055 w5 25 ©ob Brgb 0659) | ,
(3) IPMDA (206"-53%8 355605 96 5r08S '8 ©3630) \

(4) GISRS (ﬁ:ag QSQ&.‘OQE‘ .03535‘3 [TYe1 63‘35.\) ‘c’oi\gﬁ)) o 0

32. Choose the correct statements with reference to 12U2 Summit 2022. \J
a)  The first leaders Summit of 12U2 was held physically on 14" Juhy 2022.
b) Prime Minister Narendra Modi hosted 12U2 Summit.
c) Theyhaveagreed toincrease joint investment in the areas Of

d) They have agreed to increase joint investment in the afeg
security.
(c) only

(1) (a)and(b)only (2) (a)

(3) (a),(b)and (d)only 4) , )%) only
[2U2 26:9) 2022 % Jo2080D $505 T§2§ &ag‘o&.

a) I2U2 3088 sahoe 382 78 @'g 2022 & =8A08.

b) ET$S0@ S8oEars [2U2 ol MraTd8 68050 AT

c) =e0, ¥§ 05w Gareow o oo Dinwdoen 20 DoHmE T

eoN§dowrd.

d) eodbdgo, s&Hgo @eﬁ@é Bormrest Hoosns » cbcéo 20 Doz A8
T% ©ohEboTd.

(1) (a) 3005 @) (@), (b) S8 (0) S

(3) (), (b) 0 -w@a: A4) (c) So005 (d) 37D

ergy and transport.

o

gpace, health and food

een selected for the prestigious Boltzmann Medal-2022 awarded by

“nion of Pure and Applied Physics.
( 1) Menon (2) Snram Ramaswamy
m Ghosh ' (4) Deepak Dhar

2SS BrdcHS 65 Fgd vob ¥Rb 92§ Podo B0 P8TH IS S'QIN
- 2022 o JJBS I0EE Ty
1) TSSO DS (2) RorS oS

(3) ©Bo&S WA (4) 635 6

e

33. The first Indi

(3 scanned with OKEN Scanner
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Russia has claimed four regions of Ukraine following so-called referendum held in
September 2022, The four regions are

(1) Kherson, Kyiv, Crimea and Donetsk

(2) Kharkiv, Donetsk, Lubansk and Kyiv

(3) Donetsk, Kherson, Luhansk and Zaporizhzhia
(4) Luhansk, Zaporizhzhia, Kharkiv and Crimea

wRow 2022 ¢ Erg DHV0BE) WG W@BonNE'R Ll \@roaredy BT (; f:N\'

34,

U I (@ooren
(1) BGHS, 85, Bocsr Bobosan a'ddy, ~ C)
(2) w5, 'Ry, LYy, Bo0a5n B

(3) G'IEy,, PGS, OrIRY, S0y wdroLoss 0\'
(4) ooy, wd0adsy, pO)S Sbckn BDcs

35. The 38" Ministerial meeting of the Joint Rivers Com% of India and Bangladesh held
in August 2022 had signed a MoU on the wuhdra ater from the following river

(1) Teesta hlydra

(3) Ganga a rahmaputra
&6y 20226* qodasr aaon"a’i'o < ED0RS Qg 385 2odhocS dSrdFod’
& Bob $& Bl Y D:‘Ocﬁwi T adyodo D& Dodsten BT .
\ (2) sQdsro

(1) ba ‘Q '
(3) Kom ‘ (4), @@

36. “Resilient Dcmo‘r.sd atement 2022” was signed during the following Summit

a); G7

(2) 1202 N\e™

3) 14 R%

(4) hangai Cooperation Organisation)

2oL BBrELD HETD0E 2022° & §0bd BE/NS* Jodsen Bowdod.

A NG7
&(2) 12U2
(3) 145 08
(4) SCO (o3 E'¥84S 6gIBLS) €

Hlllllllllllll!llllllllIII!IIIl||I||I|IHII| (44
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37. ChOQT‘-‘C;};‘? COTTECt statements regarding Netaji Subhash Chandra Bose statue which was
unveiled by the PM Narendra Modi at India Gate recently.

a)  The unveiling of the statue of Netaji was accompanied to the tune of “Kadam Kadam
Badhaye Jaa”.

b) - Height of the statye js 28 ft

; ) The team of SCl{lptors for executing the statue was led by Ram V. Sutar.
) Aspecial 15 mingge drone show on Netaji’s life was projected at India Gate in tﬁN

evening session, |
8‘; (a) and (b) only (2) (a),(b)and(c)only &\
ro

(2), (b) and (d) only (4) (c)and(d)only A
2830 BT FE0E3r8 RoAcsr At 58 Jevd zrQ SoEE' AT gw wa;
608 JSomofod) S80S TgPgod JoDs Do, L

3) [ed D @Y 60 “8S K65 woch = B g Q@-noa.

b) D650 I8y 28 whorres, a

c) S0 Sosr6> Bk oo 23008 T 0. 2. m&z’&éé‘go Sroar .
d) [ 2380 Ho 15 dodre &S Fdo a-dbé%‘:o o0oeS* Rodasr NE 56

REB T .
(1) (a) 28050 (b) Somgs A@w

(b) 58052 (€) S
(3) (a); (b) So0050 (d) Smgds (c) 308050 (d) S@S

-

38. For the year 2022, PM awards fér E
the contribution of Civil Servants ihpr
a) Swachh Jal '

b)  Swasth Bharat

c) Quality Educatio % _

d) Digital Paymen :
2022 éoée‘s’.\)mé% §) 96 5BY) @S HQE ©&I(HAS FE8 & Bod sEgESroH
20508y GBwE) 5 KBI.

llence in Public Administration aims to recognize
oting

(@&yerosdo

a) Jdhade

b) 4%3@2.7‘55

' 05308 DG
«) BziS BOoes
Ay (D (@), (b)&(d) (2) (b),(c) & (d)
(3) (a),(c) & (d) (47 (a), (b) & (c)
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nion |
of Forest Report 2021” released in January 2022 by the 1I:I:over _
adav, the top three States shown maximum increase in fores

39. As per the ‘India State
Minister Bhupender Y
are, respectively
a)  Andhra Pradesh

b) Telangana
¢)  Sikkim

d)  Odisha
2016 %208 erhotE 85 w338 2022 S HsEe BRS ‘Rolasr R vH FTY
2021" 85750 L&D DRFoS* K3 oGS S B Toesis Lards m@’gt@

Q) BoBHAT b) 8wvormre ‘ )
) SIONG d) b

| (1) (e), (a) & (b) (2) (b),(c) & (d) Q

| (3) () () & (b) (4) (a), (b) &'(d)

40. Choose the correct statements from the following.
a)  Arare pink diamond discovered in Angola in Ju
b)  This pink diamond is named as Lulo Rose. é
¢)  Weight of pink diamond is 43 gram
d)  Itis the 5™ largest diamond recover
(1) (a), (b)and (c) only

(2) (b),(c)and (d)only ~ * @
(3) \

e Lulo mine.

(a), (b) and (d) only
(4)  (a), (c) and (d) only

& 808 et 0R @ QOO 0A.
a) o8& oé:)/g& B0ES woRferes® 28 20228 SR T 8.
b) - %

& 2Dof 'u_:-eS‘ '8 ©d T50¢Se0 BT
C) %of @0 9 43 msSwen.

d) e

5 Dod IO8EHS e85t 28 535 3 ¢ BS00A.
(1) a), b) o805 (c) S @d

i-- '@ﬁ),@) So80% (d) Sov@Ss

3 &3) (@), (b) $005 (d) sy

| (4) (@), (c) So8cn (d) S5

A
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41. Choose the correct staqe

August 2022, ments regarding the visit of Maldives President Solih to India in
a) Itis Solih’g 2nd
b) Onthisoccasion “1r:. 1
Modi CCasion “India First Policy” is reaffirmed by the Prime Minister Narendra
¢) Both leaders partic :
" 1pat i “ : "
the Greater M pated in the virtual “Pouring of the first concrete™ ceremony C:TQ

official visit 10 India.

ale Connectivity Project.

d) E ; S - :

) xchanged MoU s on disaster management and cyber security. \
(1) (a)and (b)only 0
(2) (c)and(d)only &

(3) (a),(b)and (c) only

(4) (@), (c) and (d) only f'\'
ulidp-20226" Srdho wagsd PO G6s bgLS How 0S Tgpgod
2oo§od. ; | .

a) 20 CEBTIE O RBg), 25 ©HEBE LgLl. \’)\

b) & DosGom “wEE 2dl DeEe’d BEE ard PG Bomd.
c) @BLS 58 vlodors B 860y 570 L@” 565 8S008" TohBOgEr
SENSS Srdgdoo TR0 TSI,

d) 234 J6Ee Srbosas b FEde rf-:rs.’: wdyorme Sr8yd Bloboas.
(1) (a) SBcto (b) Srgds Q) |

2) () o8em (d) Sr@d \

(3) (@), (b) 26050 (c) Sr@N|

(4) (@), (c) 28050 (d) So@da, Y

42. Choose the correct ;\_\ ut “Matdata Junction™.
(1) Theprogra sYaunched by Election Commission of India for voters awareness.
(2) The prog mﬂ’% in Kendriya Vidyalayas to improve religious tolerance among
studentsc.rm%
(3)
(4)

S

1 Adityanath started this program which is similar to ‘Mann Ki Baat’.
m is started in collaboration with Dooradarshan.

205" HBod HBGS TEgSNK JowE Bobod. _
L B6S* wimars §9y0BodE Soll AR Howoo B8 & 5°Eg S0 (FEoPoSnlos.

Dorghe Sy BE FHEFTGIY DoFoBoITIE & w0 Tobeh drgucirest
(FdodoTLo.

= ) %05 &S S HOFOS € 5B Supgiod Arh vbdy T8 | FEodoT .
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43. Which of the following is correct regarding Sustainable Mountain Development Summit
(SMDC) - X1? |

a) Theme isl“l larnessing tourism for Sustainable Mountain Development™.
b) Hl?ld dur.mg; 6'" October, 2022 to 9™ October, 2022,
¢) Prime Minister Shri Narendra Modi attended the inaugural session.

d)  This summit held at Leh, Ladakh Union Territory. f\
(1) (a)and(d)only (2) (a),(b)and (c)only ’\

(3) (c) and (d) only (4) (a)and (b) only

WRE SGEDIY W 93y (SMDC) - XI & Howobod 85308 f8okod
a) “"mgd 5656‘@;‘53% §'J0 SogLER) IARTrhowE'Sde” & '.516;‘53@
b) 6 ofeb 2022 fod 9 of'5 2022 S68r 20A08. Ay

C) | DEoEE Gy ESr8 PEFSSo@ 1@ SBod3rs TGSyl Q

d) FoEF0S Poso LEFED BT & HEY Vdcirese %
(1) (a) So8csn (d) Sm@do 2)" (a), ¢) @

B (c) Sotasn (d) Somgd 4) (a) ?
44.  Choose the incorrect statement regarding the Indm e Day Celebrations 2022.

(1) A special youth exchange programme with dets/youth from 14 countries.
(2) Murals on kite flying are displayed/at Mina Bazar.

(3) Wall hanging of Param Vir Chakra dec'from different States and Union territories

adorned the walls of Red Fort.
(4) Inmammoth art project of Kala @h, 8 scrolls each of 75 meter long were displayed.
08 Agdogy BS'NS Ik & Qowofod JVFW TEgEL Jobs DoRod.
(1) 14 3o 508 SIS ?Xoa BAE/BarS @3355 250& 5‘65@‘.‘630,
(2) dDdw=rsst oL g DE© @’JCSCSQé./
(3) AsFL AEeD "o 500050 o T8 | Fosrels BodS 6% DESE
oT8) @5(@\ Seros w00,
(4) Se5o0 S DHBmS LIS Bowodod 5L B 75 Dbl FE3S 8 @)

@’:db,&or:‘ ).
: -
45. On S@gr 17,2022 PM Narendra Modi released Wild Cheetahs which had become
extinct from India, in the following National Park.

. (2) Panna (3) Kaziranga (4) Km‘m
08B 70e’ wodbodFonsS wEd DHELDH Bl Sdogard Roxé 17, 20223
& 808 IASS &y S* ddode BT, [
(1) & @) sy (3) &26orm 4) &S
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_ Which one of : \ ey
£ (1) Pallay the fOllowmg place yielded archaeological evidence of pit dwellings?
i ;’m“ (2) Mehargarh (3) Gufkral (4) Balakot

© TR «
I s S0I6 Somopons Hoshy FEge D @osos’ EaBRN?
s 4 Se oL =

k- g (2) o646 3) KSES (4) weorES
7. Whowasth . ;
4 0 Vrajapz ﬂ(:jfﬁcer In-charge of Pastoral Lands in Rigvedic period?

e @ Jivagribha (3) Kulapa (4) Suta _,

L oitiEmas (2) 38 (3) s (4) w8 N
et ; —.—-—-—_._._______________ §
48. Identlf)f-the INcorrect pair in the following. N

(;) i’r‘ﬁ“a‘h"" Elephant (2) Naminatha - Blue % o

(3) Anshtanemi - Concp (4) Vimalanatha - Buffaloy, -

BoB TAS KD 285 HBos0d.

(3) ®BFID - Fogo (4) :J:’Jgéﬁ‘y 'Aa
49. Match the following.  \J

List-I List=lI %,

a)  DevaGupta i)  ruler o%l{[amarupa and close friend of Harsha

b) Sasanka i)  Harshals brother-in-law

¢) Bhashkaravarman ii1), ‘rulerof Gauda who killed Harsha’s brother

d) Grahavarman A 1v) \ruler of Malwa who killed Harsha’s brother-in-law

Bo8 T 2EHES0A.

zoe - | e T zde -l
- \ | 528
a) BIHYd ey 1) oD Fokd 08050 K Rk
, ; et

b) dwosodo /N7 i) >R es

) FESE N i) A6 Josod, 6 FEHAY SobSad

d) &S5y, ¢ iv)  Sreg FoHd, THY S SodSTE

The cm’r“é"t’:t%rﬁwer 1S :
SOEIIH ST

a-i, b-ii, c-iv, d-iii

W) "a-i, b-ii,
W a-iv, b-ii; c-ii, d-i

3) a-iv, b-iii, c-i, d-ii
(4) a-ii, b-i, c-iv, d-ii
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50.

Arrange the following South Indian rulers in chronological order.

1) Krishnal i) Kirti Varma |
1) Mahendra Varma | iv)  Pulakesin |

$od &8 SEDosos soEdrdrdo widod.

1) D0EE g i) Bwss 8 56,

1) s SLWroESsy iv) 3Jd88 Hods

(1) 1,1, iii, i 2y, i, iii, iv ¢
3) |

IV, 1, 11, 1 . (4)

iv, i, ii, i e\
SI. Identify the correct pairs in the following.

a)  Vasantarajiyam - Kumaragiri Reddy 0
b)  Srungara Naishadham - Srinadha

¢)  Sahitya Chintamani - Pedakomati Vema Reddy : "
d)  Vema Bhupala Charita - Vamana Bhatta Bana &
808 TS Jowons ado HYoSes.

a)  SV08TAHIND - KoSTrEAd 1 \,J\
b)  Homs JASE® - Farcadd (b‘

C) irdy DoerSod - DEEHS 3508 Q)

d) I e $66 - SIFE eredd

(1) (a), (b) & (c)
(3) (a) & (b)

52.  Arrange the following travellefs in

| a), (b), (¢) & (d) #
) (@), (b) & (d)

chronological order.

a)  Sulaiman \ b) Al-Masudi

¢) Marco polo ’\ - d) Fernao Nuniz
808 ir@fod 5erdESos' wiodsw.

a) 85rS {-v“: ) b) ©S-S05r8

C) Sr&y et : d) oS SrgE
(1) (d), (c), (bY (2) (b),(d), (a) & (¢)
(3) (@), (b)slen&(d) (4)  (c), (a), (d) & (b)

53. Whic%oﬁ?ﬁg following Chalukyan inscription mentions the founder of the Kakatiya

D
/&%mpet inscription (2) Mangallu inscription

Motupalli inscription (4) Mangalagiri inscription
A 808 TS 5E8c%H SreYPHDAY 1Y) T sy TS0 8?
4:?& (1) eoocdd THlo (2) Sroffen TS0
(3) Jorendd TS0 7 (4) HooK¥Ad THS0

IS o
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54, Rani Avantibai Lodhi, wh participated in 1857 Re solt belongs to which kingdtl)m
(1) Khurda (2)  Ramgarh (1) Nagaland (4) Jhansi
|1857 BNt -)'U ") oved wHoOwaSio'd B omg Dukioro
(1) &g (2) ofonsd (1) armeroh (4) oy oD
58 Wh“ made Bombay (Mumibaiy aw w major Commereial hub
(1) Job Chomock (2) VPrancis De
(1) Gerald Aumprinen (4)  Frameols Martin
groaran (Aoeron)d J‘;bub Ho@donm dhid J..:C\Jf \
(3 ?\U‘Q wohalyh (4) la-u’ﬂuuu ..\J"Q.a
L — iind
- 86 Whoistheauthor of * Alangir nama*?
| (1) Mirza Muhamimad Qazim (2)  Muhammad 5¢
(3) BlimSen (4) Khafi Khifn O
, 'WoolS A SSand Iy
(1) g 3)'.3‘:1)&5 Ve (2) %
(3) O W%, (4)
(ARakaES o RO B 4 3 m—
i §7. Who lr-ln\l.uui lumk\nf !hc Hruhmo Samaj in nd Telugu?
. (1) Kandukun Veeresalingam embeti Sridharalu Naidu
(3) Subramanya Bharati Raghupat Vcnkatamtmm \'a;du

PIPRArRiD ool $26ss, @ :r..wé" eH5800%5 0L I
(1) Sodsrd DB¥0oksm \ 2y Bous §Soe a‘c:‘.'md:

d (3) Dpwng oo & (4) 65050 JosLiddo Foknd
:. 38. Idenufy the correct lowing.
S a) The Madras LW 1918
' b) TheAllIndia bha - 1926
R ¢) TheAlll ¢ Union Congress - 1920
3. d) Bardol S%aha 1928

(0B TEE KOS 23 K00S0,

B @0 Bwb chrdahs - 1918
AeseS 20808 8 g - 1926
b &8 mobcir BE cordahr sTo@l - 1920

B g0 seguio - 1928
1) (a), (b) & (c) (2) (a), (b), (c) & (d)

B) (a),(c) & (d) (4) (®)&()
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(3 scanned with OKEN Scanner



lt G-2 Booklet Code | A |

\- 59. Who among the following is not connected to Gadar Party.

a) HarDayal b) SuryaSecn
c) Sohan Singh Bhakna d) BhaiParamanand
Bod TB8S* 25K K& ﬂ'gg HoofHos T 8.
} a) FESSErS b) 2r85hS A
c) RHERof ¥E) d) o BE5rS0E fQ
(1) a @y b 3) ¢/ (4) d '
’ 60. Name the American Journalist that witnessed the Salt Satyagraha in 1930.
| (1) Dominque Lapierre (2) Larry Collins \
| (3) Webb Miller (4) Jeff Thomson Q
1930 &8y SEgHDR) KSoN0DS GDOES FFSRNAIE? f'\o
| (1) &I oo (2) orBE'O])
\ 3) 35 286 4) 35 6%
61. The shadow zone for both P and S waves during an canhw:
(1) 105° to 145° from epicentre ‘ (\ '

(3) 35°to 75° from epicentre

(2) 90° to 180° from epicentre C)b

(4) 165° to 220° from epicentre 4 D

Sr€od dS0chdnest P Sodcsn S sdome o8k oS> Sodeom ¢od @Fodo
(1) grgod Boo So0d 105° - Sodo

(2) #rgod oo Sood 90° - 180° Hodss &odo

(3) &rgod Sogo S 2 -95° &g @rodo

(4) o oo S0d M65% 220° Sodg @odo

62. The state producing tré@ealing wax in India

(1) Bihar Andhra Pradesh (3) Uttar Pradesh  (4) Haryana
erd8addosS* r_%‘ gorr &&E T T°Ro
(1) B8 (2) soa® ¢, (3) SEEDBT (4) Soge

63. Aus,Ar angﬁg Boro are crop varieties of

(1 at (2) Bajra (3) Paddy (4) Jowar
Q%5 Sobosn S8 Hobd E5en BIE BobB.
QAN (2) 2z EA(3) . S8 (4) =8
The state having lowest area under forest :
(1) Punjab (2) Haryana (3) Uttar Pradesh  (4) - Rajasthan
wdgo) HL Dhgo 8ONS Tgo
(1) Soz=d (2) FoogS (3) GEsRRT 4) oz

(TR 24
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65. From the following, chogge the wrong pair of National Parks and States.
(1) Balap‘akram-MCghalaya (2) Bandipur- Bihar
(3) Dach:gam-Jammu&KaShmir (4) Namdapha - Arunachal Pradesh
§ob T8S* =y, FE 0 Hobosn TuFe PO 2ER KGoSIBN.
(1) 7 203ES - Bdrecs T (2) wobiys - b
3) S - 280 & $46 (4) TSHEP> - wEETSODET
| 66. The Planetesimal Hypothesig i proposed by ’&,!
'| (1) Kant (2) Laplace \
| (3) Jeans (4) Chamberlin-Moulton 0
frsre D0ESH Ba>sonss 56 ' ‘
(1) 08 (2) ohs - Q
() 23 ! (4) :;J‘oﬂaJQS-;’)T%S e °
em— e —
. The period of the i ia i
& (1) pJuly to Oc:t«:;lS:.::);j et e In?lza)ls ?\iay t0$ t
(3) Juneto September (4) June togOcteber
EE3F0S" Jud wu&HSS Teo D6 é
(1) 28 Dok ws'ab $65% 2) M ":0’80235 SE%
) ==8 So0é JPoab 6% 4 08 ©&nb 568

R

68. Theriver called as ‘Dihang’ in Indiais %%
(1) Ganga (2) Indus

Brahmaputra  (4) Yamuna

T 88BF0S® ‘BF0R @3 HEHS o %) 88 :
(1) ot 2) o u@ 3) LTHE (4) o%BnS
69. Match the following. / \
‘ List-I X\ List.II
% i)  Jupiter

a) Titan .

b) Ganemede \t" i1) Mars
c) Phobos ' iii) Neptune
d) Triton ‘bﬁ iv) Satum
& 808 a»es% o).

rHa - 11

1) s
1) @omdsodd
i) [
V) ¥
A"\The correct answer 1S :
L HBRS dSrrEw ¢
% a-ii, b-iii, c-1, d-1v (2)  a-iv, b-i, c-ii, d-iii
a-i, b-ii, c-iii, d-1v (4) a-iit, b-iv, c-1, d-ii

T

-
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70. Gneiss, Marble, Quartzite and Schist are the examples of the following rocks
(1) Metamorphic rocks (2) lgncous rocks
(3) Sedimentary rocks (4) Chemical rocks
N8, doorow, SHFR ook AFes & Eod TS D fookh aorde.
(1) Sdosd foe (2) o) fow
(3) o383 o (4) SRS Jow

71. FFDA means 0
(1) Fish Foreign Development Arca o

(2) Fish Farmers Development Agency

(3) Free Fish Development Authority Q,

(4) Fish Frame Development Arca
AD.DD.8.0. e3m 0

(1) 288 gy Ddo WP (@odsw \)\
(2) Soggsdho PSR Joy (b

(3) JgHgshe &S P Bol8S»
(4) Dggsedoo ©HIB Sol8Sn -

72. Khadar, Bangar soils are related to following'these soils
(1) Alluvial soils ° 6 2) Red soils
(3) Black soils (4) Desert soils
36, o6 ©ID & §od DoBID

(2) Y Joe

(1) aoh Jven
(4) d=0 Ioen

(3) SedK8 Sve

73. According to 2 f' us, Scheduled Tribes population is absent in these States/Union

Territories.
a) Pondi
c) :
20

b) Haryana
d) Maharashtra

AT A0S B0 & T@w/fold 308 Posost Ndrgg o aTer B
Yatnite : b) Sogs

1) ~(a) & (b) 2) (b)&(c)
(3) (c)&(d) (4) () &(c)

VAR 24
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74. Which of the followin
(1) Sadiya-Dhypy
(3) Kakinada - Puduchey
1Bod BOVS TveSest A8 a::;
(1) Sdase - S

g stretch is the longest waterway in India?
(2) Kottapuram - Kollam
(4) Allahabad - Haldia
8Bdocs* wdgod FEDS wo CTe Srgo?
(2) EipRbo - o

3) 588 - |
T con, | heers g Q>
75. Choose the incorrect Statement Q

1) Thete ' : '
E'); The 1‘21;11 f Sadure; on S January is slightly more than that of 4'h July. ‘ g
(3) Allthey ‘i‘Cd amount of Sun’s radiation from the earth’s surface is call bedo.

veather and climatic chan ges take place in stratosphere.

4) The is dire :
e Sun'm directly overhead at noon on 215 June at 23.5°N. °
8od T8S* oy ;Fsis;()n} 53003508, ’\

(1" =B 4 S35 67 wiss0 3 wals Fodo kg5 '@c" |

(2) & $B0800 %08 BanoDS G DECER) O AYONTES.

B) ©9) TeSte Hba 56938 Srénw & uéheow.
(4) 23.5°N $¢& 2 b YO8Ny
2 21 2n3 & drdogdy $SBIGS HogmAd L

76. Identify the correct one relating to the tenure of K'Sabha
(1) Cannotbe extended under any circunisfanees
(2) Canbeextended

(3) Can be extended by not exceedifig one’year at a time during the proclamation of

emergency
(4) Canbe extended by notexex c 2 years at a time
&°E J Yo éoao&o% gy KgoSod.
(1) 28 50pdoEH By >an0SBI®

(2) ddodp 8
L3y edgong % 2330 1 %0388 5erd8 MoSHhom FANOTWIN)
(4) =3 m\& [6) Dosdyore 57erd8 Dotorm FANOTIE)

—

77. Ifa nm@:\ in the Indian Union is to be created, which one of the following Schedules of

Sonstitution must be amended
Eourth Schedule (2) Second Schedule

(3)" Third Schedule (4) First Schedule
WEs dirpgs’ w8 8 o §o Somyin Bosrgeod orErgofos D NErgeND $380D

(1) Ted wdrged (2) Todd udrgen
e Saorchd nadhorgen (4) 3068 wdrgen

T
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78 Which of the following is NOT a feature of the Government of India Act, 19357
(1)  Dyarchy in the Provinces

(2) A Bi-cameral Legislature ot the Provincial level
(3)  Provincial Autonomy
(4)  AnAll India Federntion

B0 TRS* wrdd ©Bebdg Wio-1935 Ay, ofiwo FAL? ‘\
(1) @Ao' dods o 0
Q) @IQos* B DE e C)

(3) @aots Jgado WOHY

(4) 38 wrdob ey derdsw

79.  The salaries and allowances of the Judges of High Court art gh: m n _
(1) Consolidated Fund of India (2) Conso% “und of the State
i F

(3) Contingency Fund of India (4) Co und of the State
o 8Hd Tgebyios'y oo 28 Sg & Sob BOZG
(1) o8 So2ld O gaomaa &

(3) w88 sKodE B o whods 8

80. The State which has the largest mmt@ reserved for Scheduled Tribes in Lok Sabha
1S

(1) Odisha \ (2) Jharkhand
(3) Gujarat q | (4) Madhya Pradesh
© @

S'S JPS* udorg ddgo wdghs Ropgs” 50N &%) ogo
(1) =82 Q (2) &r8,0b
(3) K=o (4) Bo¢508%

Second Schedule (2) Fifth Schedule

443)™ Eighth Schedule (4) Tenth Schedule
’3?' orargolfiod’ 2§ Soronoo e BLoK HowoLoDI Da> SIS0 §00 &)
! "‘_m

06 Tadrgen (2) ©oRdS RErge
DDES Tadrgen (4) J83 adogen
>

26-A

R
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g2. Whoamong the g,
Chiel Minister of
) C hmuhnhh,_k
(3) Charan Singh

88 e gy S0%Y o

(1) Soims

G-2 Booklet Code A

“:‘\v.,m bocame the Prime Minister of Indin without being carlier the
lte?

hor (2) Morar)i Desn

(4)  Vishwanath Pratap Singh

H 0'3 :!mms:.'uol!i wed .Udstrud?da‘dJ'?
(2) Bosorf Bwcs @

3)/ S »
€)% off (4) gl @Beh Lol 0
L T i

83. In the Interim Goy
Y was

ernment formed in 1946, the Vice President of the L xcc@ouucul

1) C.Raj . (N
(1) AJagopalachari (2) [)r.S.l{udlwkrihhn&\

(3) Jawaharla) Nehry
1946 5 SoSe)Soes iy
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84. The Anomey-Gcneral of In
to speak in Parliament under this article’¢

(1) 88" Article
(3) 75" Article
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SEB0tnS* Bdohod

(1) 885 ©BESe

@ hc Parliament, but he shall have the right
he'Constitution

(2) 76" Article

‘Q\ (4) 86" Article
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ol of Mizo National Front in Mizoram is
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86. The Constitutional Amendment Act that increased the seats of Lok Sabha from 52510 545

(1) 21% Constitutional Amendment Act
(2) 24" Constitutional Amendment Act
(3) 25" Constitutional Amendment Act

(4) 31% Constitutional Amendment Act ' .
& (8od U'zz‘sori NS8e0 $&o oo ¢5*E D2 ;Ega*’o RoPFR 525 f008 545 8o w6 oY

20ASH

(1) 218 oargoll 9S8 Féo 0
(2) 245 oragéd 360 Sho Q

(3) 255 orargols D58 S0 _ £

(4) 315 oango 386 S0 N\

87. The Person with longest tenure as Speaker of Lok Sabha i§
, (1) G V.Mavalankar (2) Balra zb*
| (3) P.A.Sangma (4) Shiy &tl y
| SEBe Byscom JS S0 DI TS T (\
(1) GV 5Teross 2) %Z‘!u &5 7
8

(3)RIBIAY éon“é} S &3S

88. A Writ to direct a public official or the ent NOT to enforce a law which is

unconstitutional
(1) Certiorari (2) Quo @D (3) Prohibition (4) Mandamus
Pehd &&'h Bor 0 $g808 Sire ©Ioeo QODHICINLES &)'gaoﬁ
¢S .

| (1) o&rod

89. The 73" Consntutl
contains

(1) 18 Subjé b (2) 29 Subjects  (3) 22 Subjects  (4) 21 Subjects
735 o E G0 w08 orargoffos’ BGHwaS 115 ndorgen Sodd oD AS

2 dot’s" (3) &ras (4) Sr0B30D

endment Act added Eleventh Schedule to the Constitution that

(»I*s oZ e (2) 29 wowen (3) 22 wo7en (4) 21 wozen §

he first time Indian Legislature was made as “‘Bi-cameral Legislature” under
Govt. of India Act, 1861 (2) Govt. of India Act, 1892

(3) Govt. of India Act, 1909 (4) Govt. of India Act, 1919

90

T 888 F0eS® S8 P Iy Jde Fom Ggods e Soedyd W&o
(1) erds |Beheg 4o, 1861 (2) 68 (Hebdg wio, 1892
(3) ards Hebdg s&o, 1909 (4) =8 \DHabdg w0, 1919
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91. TheAuthor ofthe Book p g, .
(1) Dadabhai:\laoroj- overty and Un-British Rule in India

(3) VKRV.Rao (2) R.C.Dutt

o (4) Dr.Bipin Chandra
F58 ©ob ©l pag 5rS 35 no8cir” B HIFR) GDODS T
(1) ooeron &%

2 5.2.88
3) 28.885d 00y e f\,'x

(4) =D Sod :
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92. Which one of the followmg is not a reason for agrarian distress in India? . °

(1)  Unviable agricyjtyre (2) Ineffective minimum SUPPWCC |
(3) Favourable terms of Trade (4) Rural indebtness f\' V

o8 TES" 2768 Bios* spsaangon 9058 SEmo SR8 ﬁ\'

(1) peperin £ Sesaano (2) sSgo & Q& At
BY 35 565 dmosses @) o

93. According to WTO, the Blue Box is
(1) Amber Box with conditions

(2) Green Box with conditions '00
(3) Red Box with conditions G

(4) Combination of Green and Red Boxe simple conditions
WTO Q 505800 59 g osm ¢ @

(1) 260 a5 wons 2 ﬁ\
(2) 26808 883 whsdymdy

4
(3) “sos waswu
- (4) FT 8 ABHONEFBS a8 ' 4
e Aé’i@v KBy $08c50 IHY DB EoonE

94. Human life ener@@quirement in terms of calories as a measure of poverty in India was

| - used for t f st fime by
(1) an (2) Tendulkar
~ (3) «Dandekar and Rath (4) Planning Commission

| aBERE0S HEBS Q) Feobhbes® Sr83 e 488 eS5tsSchy F4E DenSod (calories)
MO8 0 5e5° V8 HHER InEBFBT GIRrADST S
™) sorces () Bodoen6~

(3) odEE Sobosn 66 (4) De®¥ Sodoo
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95. Money Multiplier is defined as
(1) Reserve Money / Supply of Money
(2) Supply of Money / Reserve Money
(3) Reserve Money x Supply of Money

Supply of Money — Reserves
(4) pply Y )Q&\

Reserves

B oo & dForr ddgowwdod ‘ \

(1) Qeg @Sgo / Bogo IS[e\S P 0

(2) ESgo dR% / Aoy \BSgo

L(3) Qog GBSgo x EBIgo I \"\
,,.Q\ \

(BSgo dBD — oL ®

(4)

:Oosw

Based on school education quality index 2021, the b‘ggti rst performing Indian States

are 55

(1) Tamil Nadu, Jharkand (wa, Bihar

(3) Kerala, Jharkand 4\ Aamil Nadu, Bihar _
883 ¥0s* 2021 JoS&oR8E :ooaao § Tegd JrRdD00D T 58, M

508050 HoSom HAVHS U‘L&-m Dw

(1) Sdad, =gob \/\\ (2) B84, HHFE ,

(3) 26¢, agod () Sdédo, HHE

97. As per the Health In @g;ﬁ released by the NITI Aayog, the top performing states are
(1) Kerala, Gujarat (2) Kerala, Andhra Pradesh

(3) Kerala, Punjab (4) Maharashtra, Andhra Pradesh
85 w3 e dosonas 6oy Srb (2021) $000 H0D DD BEH EHVOS
U‘L:'I'e:o e
(1) -Mrﬁwé‘ - (2) B8¢, soGdT
¢, domrd (4) SoFog, BoSDAT

\The number of Public Sector Banks in India after merger during 2020 is
020 HoSéydoes® wrdsBFos* #0AS HOE Soff ergofow DOSo Sugd I wrgosoen

& JT)00 M
(1) 10 @) 127 (3) 13 4) 14

(e 304

(% Scanned with OKEN Scanner



Booklet Code A

99. What are the two least performing states in India in the achievement of Sustainable
Development Goals during the year 2020-217
(1) Bihar, Jharkand (2) Bihar, Uttar Pradesh

(3) Uttar Pradesh, Uttara Khand (4) Bihar, Rajasthan
Eod a°¢3¢5* D Dok O'Epen 2020-21 Sosdydods “.\13786;}_0.6 @ﬁl-‘.ﬁa@ O Mo
VS8 Bod TS @ aM00?

(1) 556, argos -~ (2) b5, wEoHAT 0
(3) &d50a85, edogros (4) b5, SETNS

100. PradhanManm'MatsyaSampadaYojana(PMMSY2020) intends to incrgdscthe Productivity
of acquaculture to
(1) 5 tones / hectare (2) 6 tons / hcy ro
(3) 8 tons / hectare (4) 10 tons Alicc
BFSSood@ Dy BodES Brad (PMMSY 2020) & &8406“ LA T AT ST
GOHSESD D DEKH DoTred &@33osubod @ ' .
(1) 5 L&yen /’“rsu-d: T (2) "R en /"mgffc o
3) 8 L8)en /’;'.:'-s;/c‘b Ldeo /‘J'gdo
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